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General Instructions :

Read the following instructions very carefully and strictly follow them :

(i) This question paper contains 34 questions. All questions are compulsory.
(it)  This question paper is divided into five Sections - A, B, C, D and E.

(iti) In Section A - Questions no. 1 to 21 are Multiple Choice (MCQ) type
questions, carrying 1 mark each.

(iv) In Section B - Questions no. 22 to 27 are Short Answer (SA) type questions,
carrying 3 marks each. Answers to these questions should not exceed 60 to 80
words.

(v)  In Section C - Questions no. 28 to 30 are Long Answer (LA) type questions
carrying 8 marks each. Answers to these questions should not exceed 300 to
350 words.

(vi) In Section D — Questions no. 31 to 33 are Source-based questions with three
sub-questions of 4 marks each.

(vii) In Section E — Question no. 34 is Map-based question carrying 5§ marks that
includes the identification and location of significant test items. Attach the
map with the answer book.

(viii) There is no overall choice in the question paper. However, an internal choice
has been provided in few questions. Only one of the choices in such questions
has to be attempted.

(ix) In addition to this, separate instructions are given with each section and
question, wherever necessary.

SECTION A
(Multiple Choice Type Questions) 21x1=21

1. Identify the theme of “Sushruta Samhita” from the following options :
(a) Work on Constellation
(b) Work on Mathematics

(¢) Work on Medicine

(d) Work on Grammar

61/3/1 3 P.T.O.
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2. oy ordt mear & SR ° f=Afafga weFt = ufeu
(1)  IIRf AR fomfaa geo xhial o falg o ale a9 o |
(ii) T9g =l 9vIar o Tl § ¥ U § S 9™ TR
(iii) JUCAETIGT ol IS | T8 ATt ©d o JH et & |

(iv)  QUATTeersh-STOeRT=T 9 STel §U S | IAER hl A&l 1 GAHHIT

fepam 2 |

gl Taehed o1 == i

(@ (), (i) R (v) (b) (), (iii) 3TN (iv)

(€ (), (ii) 3R (i) @ @), (i) 3 ()
3. Tmafafea § @ sH-81 9@ yr=iH TerEy B 2

(a) T (b) Td

(c) Dy (d) =g
4, TafaRaa § 9 - 9ig e 787 8 2

(a) 1977 fiee 3R g fiew
(b)  F9awr SR 7ETTI
(¢)  S77d% AN AR IFHaeT
d)  FHTEREE T AR TE@rd g7

5. Wi qidl Ffiad § & fhd <@ @ Tefea o ?
(a) el (b) g
c) TH d) %™

6.  Wfth U HUsFhA IR o s H ATIRgd T & -4 94 Tat 8 2
(i) I8 ek <hl Ueh HAfgeT W<k off |
(i) 98 U Higar TR off |
(iii) % RE Wb off |
(iv) 38 TARRT feeagees &t T& 6 |

et faeed =1 == hIfT

(a) (i) 3R (iv) (b)  (iii) 3 (iv)

© () 3R (3ii) (d) (i) 3R (i)
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2. Read the following statements about the Indus Valley Civilization :
(1) Early and mature Harappan culture shared subsistence strategies.

(i1)  Millets have been found from one of the Indus Valley Civilization
sites.

(iii)  Archaeologists have found evidences of a ploughed field at
Kalibangan.

(iv)  Archaeo-zoologists reconstructed dietary practices from charred
grains.

Choose the correct option :

(a) (1), (i1) and (iv) (b) (i), (ii1) and (iv)

(¢) (1), (i1) and (iii) (d) (1), (i) and (Gv)
3. Which one of the following is the oldest dynasty ?

(a) Maurya (b)  Gupta

(c) Kushana (d) Kanva

4, Which of the following is not a literature of Buddhism ?
(a) Vinaya Pitaka and Sutta Pitaka
(b)  Dipavamsa and Mahavamsa
(c) Jataka Stories and Ashokavadana
(d) Uttaradhyayana Sutra and Tattvartha Sutra

5. Which of the following countries did Marco Polo belong to ?
(a) Italy (b) Portugal
(c) Spain (d) France

6. Which of the following statements are correct about the Bhakti saint,
Karaikkal Ammaiyar ?
(1) She was a woman devotee from Karnataka.
(i1)  She was a woman Nayanar.
(iii) She was a devotee of Shiva.
(iv)  She composed Nalayira Divyaprabandham.

Choose the correct option :
(a) (i) and (iv) (b) (i) and (iv)
(c) (1) and (iii) (d) (i) and (iii)
61/3/1 5 P.T.O.
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7. ARd H A" HHaiad gRI HEREd § ¥ -9l Teed Juel dr] hl T ?
(a)  FHIQHT e (b) AR e
(c) {IqaTd SFaee (d) TSN Sewen

8. WA YUSRd HUE % 9X H (HfaiRad § & SH-91 98 7 ?
() PUpad A<D, HH JR T T W BHAT HI e
i) T8 . HHAT bl heTs, S H WET I ATIEH TS T Sedm
(iii) @7 &erF : 914 § U8 Wl o1 Seanl
(iv) &7 §e73 : TS 3R il & e BH 1 ST

gl faehed w1 =74 HifT
(a) (i) 3 (iv) (b) (i) 3T ({v)
(@ (1) 3T (ii) (@ (i) 3T (id)

9. TR AT & S gEneHl % 9R 4 efaRed 8 @ -1 fowed a8 7 2
(a) e T8 fooR ¥ Iat-ud foom &t 3 st 2 |
(b) ToSER H TS SMEehi gRT desdi 1 AT fohal T o |
(c)  HHATYH ST 1 UHI Teh &t o HIEAH § TS hrg b o SR
T o1 |

@) T=fen Tt gqa 991 & Tsiet gRy 18 TS |
10. fr=faRaa famredi @ @ fou mu wfer & fox 6 gg=m Hifw |
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7. Which one of the following revenue systems was implemented by Charles
Cornwallis in India ?
(a) The Zamindari System (b) The Mahalwari System
(c) The Ryotwari System (d) The Malguzari System

8. Which of the following are correct about Mughal Land Revenue
Collection ?

(i) Kankut : Estimation of crops as good, middle and inferior

(i1)  Batai : Crops were reaped, sacked and divided by agreement
(iii) Khet Batai : Division of fields before they were sown

(iv)  Lang Batai : Division of crops among Kings and Zamindars

Choose the correct option :

(a) (i) and (iv) (b) (i) and (iv)
(¢) (1) and (ii) (d) (i) and (iii)
9. Which of the following options is correct about the water resources of the

Vijayanagara Empire ?

(a) River Kaveri flows in Vijayanagara towards north-easterly
direction.

(b)  Embankments were built by Gajapati rulers in Vijayanagara.

(c) Kamalapuram tank’s water was conducted through a channel to
the ‘Royal Centre’.

(d)  Hiriya Canal was built by the kings of Saluva dynasty.

10. Identify the given image of a temple from the following options :

(a) Hazara Rama Temple (b) Kailashnatha Temple
(c) Chidambaram Temple (d) Brihadeshwara Temple

61/3/1 7 P.T.O.

Get More Learning Materials Here : & m @&\ www.studentbro.in



Fig:  FHEliRad 37 #acl giteatiaa giientaal & [0 9. . 10 & 9 W E -

FCd T ISR T o fefaliad ® & ford a9 & qafq o 2

(a) 9™ (b) qII
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11. F=feRaa S/ A wgr™ar @ 1857 & fagig o 39 JdT1 shl 9g9H hIfNu :

o Jg faoctl &1 vmEsw o1

o T AN T ITEH o
o I % flgarw 32N @ 1857 % fagifeal i duar wem

(a)  EIGL AT STHI
(b) 3T ATAH

(c) HaHg e
(d) dTIe Tl I8

12. = < % U MU g, AfReH (A) 3R ®wu (R) | f=faifad i eamgEsh
qfeu 3R et foshed 1 =@ hifoie

SYFHIT (A) : SfAATGTAT SN FATRIS 4 TFAIdT o ¢ VR o 999 H Teh
el Hig Tafed foma |

FRU(R): TR 7 U & 91 T€] bl TS [hA1 3N YRAT Tegare
o Wi TS 31 faegar Sl T YeeTd 53 |

(a) 3P (A) 3 SR (R) THT Tal & 3 SR (R), AMHAT (A) hI
g ST LT 2§ |

(b)  SATTHA (A) 3T RO (R) THT T &, T BRI (R), AMHeT (A) H
& SRS g il g |

(c)  ANTHA (A) HEl B, T RN (R) TAd 7 |

(d) 3w (A) TeId 8, 9 HROT (R) TE 7 |
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Note: The following question is for the Visually Impaired Candidates, only in
lieu of Q. No. 10 :

Krishnadeva Raya belonged to which of the following dynasties of
Vijayanagara Empire ?

(a) Sangama (b)  Tuluva

(c) Saluva (d  Aravidu

11. Identify the leader of the Revolt of 1857 with the help of the following

information :
e Was the ruler of Delhi

e Was the last Mughal ruler

e (Gave legitimacy to the rebels of 1857 against the British

(a) Bahadur Shah Zafar
(b) Shah Alam

(c) Muhammad Shah
(d)  Wajid Ali Shah

12. Two statements as Assertion (A) and Reason (R) are given below. Read

them carefully and select the correct option :
Assertion (A) : The Jallianwala Bagh massacre marked a turning point
in India’s struggle for independence.

Reason (R): The massacre spoiled the relations with the British and
was the opening of Gandhiji’s commitment to Indian

nationalism.

(a) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of the Assertion (A).

(b) Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of the Assertion (A).

(c) Assertion (A) is true, but Reason (R) is false.

(d)  Assertion (A) is false, but Reason (R) is true.
61/3/1 9 P.T.O.
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13. frafaRea & @ = afdam aw & teqe 9 2
(a) . o3, TSR
(b)  HETcHT TTeft
()  HEH %
(d €. Ty g

14. f=faRea 8 9 =T YA < STEeh! kT &l HIcshH HiF-HT & ?

() T 2

(i) IR

(i) HEYEH g

(iv) 3T

gl foaeheq o1 =99 i

(a) (@), (), (iii), (v)
(b) (i), (iv), (iid), (1)
() (i), (1), (), Gv)
(d) @1, (iid), (1), (iv)

15. T som i qfd i -

SR o # gt fauiee o fou @@ @@ § e s
RIC IS T

(a) HIA-fer gOr, 1909

(b) TN 3% 3feAT UF, 1919

(¢) Ta-HS AT 3feam Uwe, 1935

(d) YR Eaaaar AfufEm, 1947
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13. Who among the following was the President of the Constituent
Assembly ?

(a)  Dr. B.R. Ambedkar
(b)  Mahatma Gandhi
(c) Sardar Patel

(d) Dr. Rajendra Prasad

14. Which of the following is the correct chronology of the rulers of ancient
India ?
(1) Chandragupta Maurya
(ii)  Ajatashatru
(i11) Mahapadma Nanda
(iv)  Ashoka

Choose the correct option :
@ @), Gi), (i), (iv)
() (i), (iv), Gid), (@)
(©) (i), (i), (), (v)
@ (i), Gib), (@), (v)

15. Fill in the blank :

In the , the executives were made entirely responsible to the
Provincial Legislature.

(a)  Morley-Minto Reforms, 1909

(b) Government of India Act, 1919
(c) Government of India Act, 1935
(d) Indian Independence Act, 1947

61/3/1 11 P.T.O.
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16. FAfafaa =it sig faggeti & @ oM diwd vrared! (3.) § 9Ra =1 o1 ?

(a)  ®A-CEM

(b)  I-fgam
(c)  As-feam
@ Rm

17. 1857 % fdgig § @@ § fohd "qcd foharm 2

(a) AR

(b) TorfSE *g
(c) I Hifgs
(d)  UET S

18. Ti=fciRaa st #l dfeu :
() SRR o e 3 yogdi wared] o Uiyt fomment st ywrfead fomam |
(i)  HiewR A S % I HI FAR Y= FHrar o fo=m & g o |
(i) FFER % =R @ w0 AEE T UREE IceT YOTel o STFURen

forepfira e & faw foeam |
(iv) SRR % TER, Ta el QER ATHI0 TG i STeerdr shidl o |
&t faehew w1 ==F HIfST

(a) (), (i) 3 (iii)
(b) (i), (iii) 3 (iv)
) (D), (iii) 3 (iv)

) @), (i) 3R (iv)
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16. Who among the following Chinese Buddhist monks visited India in the
fifth century (CE) ?

(a) Xuan Zang

(b) Fa Xian
(c) I-Tsing
(d)  Yijing

17. Who led the Revolt of 1857 from Lucknow ?
(a) Alamgir
(b)  Birjis Qadr
(¢)  Nana Sahib
(d) Peshwa Baji Rao

18. Read the following statements :

(1) Bernier’'s description influenced Western theorists from the
fifteenth century onwards.

(ii))  Montesquieu used this account to develop the idea of oriental
despotism.

(iii) Bernier’s idea was developed as the Asiatic mode of production by
Karl Marx.

(iv)  According to Bernier, the Mughal Imperial Court presided over
village communities.

Choose the correct options :
(a) (1), (i1) and (iii)
(b) (i), (iii) and (iv)
(¢) (D), (iii) and (iv)
(d (@, (iD) and (iv)
61/3/1 13 P.T.O.
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19. = < ®eF fCu MU g, SAfRed (A) R ®ww (R) | f=fafad & eamgas®
qfeu 3R He foehed o1 == hifoie

STYHIT (A) : TS Awyal A fafwa smel 1 s gad Jorett fashiaa i |
FRU(R): o1 ¥ &4 qUS % Yelg UTT T |

(a) 3YHY (A) 3 SR (R) ST T@l & 3 SR (R), AMTHAT (A) H
&l SIS hdl 8 |

(b)  HPAT (A) 3R HW (R) A1 FaI 7, Tq R (R), HA(WHAA (A) H
e AT 7 H g |

() R (A) ¥&l 8, Ted SR (R) TAd & |

d) REE (A) TEd 8, T RV (R) T 2 |

20. 37ET-U-37FHeH] h G&I g3 o oY H MEATARad el &l ufgu :
()  STE7-T-37FeR] g Boldd o Torgt off |

(i)  37ET-T-37FHeR] The o ATHSA hi AAH T il 8 |
(i)  STE7-T-37FeR] A V=T WK hl IATR HLct 8 |

(iv)  S77E7-T-37%eR] Il hl ST JUITeA! 1 Iooi@ hid! & |
gl faeheq o1 == HilT

(@ @), (i) 3 (iv)

(b) (i), (ii) N (i)

© @), (i) 3R ()

(d) @), (iii) 3N (iv)

21. ‘Teprel 1 faga f=fafaa 4 9 fore vae) @ Hafeq o ?

(a)  AEINS
(b) TS
(c) 3
(d)  HTEpldh
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19. Two statements as Assertion (A) and Reason (R) are given below. Read

them carefully and select the correct option :

Assertion (A) : Harappan Civilization had developed a precise system of

welghts and measures.

Reason (R): Metal scale-pans have been found.

(a) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of the Assertion (A).

(b) Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of the Assertion (A).

(c) Assertion (A) is true, but Reason (R) is false.

(d)  Assertion (A) is false, but Reason (R) is true.

20. Consider the following statements regarding the central purpose of the
Ain-i-Akbari :
(1) Ain-i-Akbari was authored by Abu’l Fazal.
(i1)  Ain-i-Akbari presented the vision of Akbar’s empire.

(iii)  Ain-i-Akbari highlighted the strength of the Mughal Army.
(iv)  Ain-i-Akbari mentions the Iqta system of Mughals.

Choose the correct option :
(a) (1), (i) and (iv)

(b) (1), (i1) and (iii1)

(¢c) (1), (iii) and (iv)

(d) (i), (iil) and (iv)

21. With which of the following aspect was the ‘Ricardian theory’ related ?
(a)  Social
(b)  Political
(c) Economic
(d)  Cultural

61/3/1 15 P.T.O.
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(TTg-3Ta TR & T9) 6x3=18

22. (%) “B3t R =hefl wamedl 3.9, % S WY HEE AR HaTorag &1 |7
3CTEUN 9fgd 39 hed <hl uiedT vy | 3

YT

(@) “B vaed 3.9, 9 IU-AEG H s Wl g W |7 ITEN Algd 39
FYF = RS HINT | 3
23. HETYRT ol Ueh T U = JHET ST 8 2 T hIT | 3
24, 9RA ¥ 3 SqQT oh fohegl dIF STIHAT I JUM HIT | 3

25. (%) “TooTR 9T | ey Af Ag@qul of |7 39 %A @i fag i | 3

AT
(@) “fogar Al 1 TATTRa 3! off |” 38 HeH Hl g HiT | 3
26. WA I ThHhd TS I o fIw S&. gd 9 Gfoge a9 § ot foar e
feats 2 Tase Hifw | 3
27. 1850 % ¢h H IMUSH H ATChgRI oh! WAl bl b b frm 2 Tose
hHIfTT | 3
wUE T
(e -ST TR ok T9) 3x8=24
28. (%) 391 Y9 Yo GgHIfeg ol favd 3fae™ | Teh Hgwqul HIg &I HHT STl
2 2 32BN Figd T hIfaU | 8
HYAT
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SECTION B
(Short-Answer Type Questions) 6x3=18

22. (a) “Between the sixth and fourth centuries BCE, Magadha became the

most powerful Mahajanapada.” Explain the statement with

examples. 3
OR
(b) “Several urban centres emerged in the sub-continent from the sixth
century BCE.” Explain the statement with examples. 3
23. Why is Mahabharata considered as a dynamic text ? Explain. 3
24. Describe any three experiences of Ibn Battuta in India. 3

25. (a) “Virupaksha Temple was significant in Vijayanagara Empire.”

Substantiate the statement. 3
OR

(b) “The architecture of Vitthala temple was unique.” Substantiate the

statement. 3

26. How did G.B. Pant show his concern in the Constituent Assembly for

making India a unified nation ? Explain. 3

27. How did the British control the powers of Talugdars in the 1850’s ?
Explain. 3

SECTION C
(Long-Answer Type Questions) 3Ix8=24

28. (a) Why is the mid-first millennium BCE often regarded as a turning

point in world history ? Explain with examples. 8
OR
(b) How have Art historians tried to understand Buddhism through the
sculptures of Sanchi Stupa ? Explain with examples. 8
61/3/1 17 P.T.O.
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29. (%) FHR % g AR Wefredt =1 avl Hifre | 8

EPE )
(@) seaTies femsti 3 a3 1 avig i | 8
30. (%) 1930 34 S ARG | e & Ht 1 fovemor Hifu | 8
BPE)

(@) “1922 qe WefSht 9 9 Tsgarg B S f 17 39 sed il W@

ST | 8
QuE
(Ea-SmeuTiEa a9 ) 3x4=12
31. fou u wg =t ufey 3k fi= fgu Tu gvat & 3w fafeu - 1+1+2=4
YUEEq AT shl UgaT h¥ <hi AT ¢

Mo IR S h Ik § 3™ 8T & I3 997 I= 9d d e, fas
T AT ThTH o [T ST shl ATawIehal ot | 39 Tt =l weer, org aen g
Y ST ST A1 | & U HEEqUl B €4 HigASee! H g 3a@-Hl W Hed
IR NI A A T & PO SO A @ B -
JTIq SfFRAl ... g2 T | el § ... 37 UHT Udid a1 & foh oS fieq
7T w3ch o T WMo off | Eemurd: A Afeendl TEId: o, Thebla, ST
31eET I ek § T of ot TR W 398 Tcafeh Y9 & Hoha fHerd
2 | 9fh 371 TfRRal & I ARG 39 ©, HiTad §9 H $5 THA § Aea
gt o S o @ A g e s fedd @ Ukt S 8 | g BT YR
=fereral el 2 | T 9 8 51 T Tk gE0 Bl et - = S o,
e fraren geer @iwen &1 o, 9 gEd 9 @ SR W gwed: had
e A1 T8 s o T SSI-gfedi qen werelt i fed o e fopam Smar o |
31 G eI o TooR shl TR AfHepl g1 “@re Geor” sl AW foam @ qe
gR STae 3 Ueh J@! Yok TEs § T o U TUgiel 8 391 9 2 |

(3T Uoh, Be? TFgHIT~H U2 Hg77153])

(31.1) YUdEIag T @ISl ohl h¥l Tfihd hid & ? 1
(31.2) YUAEIIE Y QUAEG3Tl hl GHSH o (o1 IaHM THI hl Feqali ohl
I HH Hd B ? 1
(31.3) SFE Hoh ° T J&aeh H ‘ITaAc =deh! I av fh8 TR R oM 2 2
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29. (a) Describe the philosophy and teachings of Kabir. 8

OR
(b) Describe the teachings and philosophy of Islam. 8
30. (a) Analyze Gandhi’s activities in India during 1930 — 34. 8
OR
(b) ‘By 1922, Gandhi had transformed Indian nationalism’. Examine
the statement. 8
SECTION D
(Source-Based Questions) 3x4=12
31. Read the given source and answer the questions that follow : 1+1+2=4

How artefacts are identified

Processing of food required grinding equipment as well as vessels for
mixing, blending and cooking. These were made of stone, metal and
terracotta. This 1s an excerpt from one of the earliest reports on
excavations at Mohenjodaro, the best-known Harappan site :

Saddle querns ... are found in considerable numbers ... and they seem to
have been the only means in use for grinding cereals. As a rule, they were
roughly made of hard, gritty, igneous rock or sandstone and mostly show
signs of hard usage. As their bases are usually convex, they must have
been set in the earth or in mud to prevent their rocking. Two main types
have been found: those on which another smaller stone was pushed or
rolled to and fro, and others with which a second stone was used as a
pounder, eventually making a large cavity in the nether stone. Querns of
the former type were probably used solely for grain; the second type
possibly only for pounding herbs and spices for making curries. In fact
stones of this latter type are dubbed “curry stones” by our workmen and
our cook asked for the loan of one from the museum for use in the

kitchen.
(From Ernest Mackay, Further Excavations at Mohenjodaro)
(31.1) How do archaeologists classify their finds ? 1
(31.2) How do archaeologists use present day analogies to understand
ancient artefacts ? 1
(31.3) How has Ernest Mackay described ‘Saddle quern’ in his book ? 2
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5 s9a =g 1 BEc q a9 off Y7 q S 7 A S
ot 2 7 Bt | (e oft) B¢ Ui 9 SrAfedt o1 we &
AER, S (QH & TS % dTiepea™ H) R U gad
TRl W AN @ o U 9= hid 8 | 9 T & e MAThR
He 1A 8 S PU T TEUE o YATfesh oid 8ld & | 37 Bai A
ogl-oTgl gt T 9 ARSI h ok TG & IR 39 ehi W T
g qd & | AP o TRl 3N TSl ¥ oeft 3 d w P
% W I ¥ TehE Il g | UEY gl W Th AR
gfgan | g6 3Afqu d9fg i Sel o WY gHR S 8; 39 ey
% QI 9T o GEX 913U % Gidi Sl IS TId & 3N 38 TE Hel
AT AT FAA @ 7 | TSl | 5@l 9 FRaT 7, 98l U
eh{l ATl @ie fear S 8 3R 39 aftss 4 & S8 U
EECIRIES I

T, =fger 3 ST (3T o I Y1 H) H 3R WH 7
st | off, AEE St ¥ = wd 8 | U o AR
T d AheS! & hd T <d &, 37 el o §9 g9 [Chd 3,
Ueh Sl ST H W Sigd 8, T i 9o W dued 8 3R
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9Edl 2, EU St § qH ek 2 |

(32.1) TS A H HY o IR & ToTT ITERT ek 6 W@ HIfT | 1

(32.2) T &1 glagreti & fawar 7 fopami &1 wrfigrt fha TR sgTs 2 1

(32.3) hVeh A H T B ITcl =TS ITHIN hl W@ T | 2
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32. Read the given source and answer the questions that follow : 1+1+2=4

Irrigating trees and fields

This 1s an excerpt from the Babur Nama that describes the
irrigation devices the emperor observed in northern India :

The greater part of Hindustan country is situated on
level land. Many though its towns and cultivated
lands are, it nowhere has running waters ... For ..
water 1s not at all a necessity in cultivating crops and
orchards. Autumn crops grow by the downpour of the
rains themselves; and strange it is that spring crops
grow even when no rains fall. (However) to young
trees water is made to flow by means of buckets or
wheels ...

In Lahore, Dipalpur (both in present-day Pakistan)
and those other parts, people water by means of a
wheel. They make two circles of rope long enough to
suit the depths of the well, fix strips of wood between
them, and on these fasten pitchers. The ropes with the
wood and attached pitchers are put over the wheel-
well. At one end of the wheel-axle a second wheel is
fixed, and close to it another on an upright axle. The
last wheel the bullock turns; its teeth catch in the
teeth of the second (wheel), and thus the wheel with
the pitchers is turned. A trough is set where the water
empties from the pitchers and from this the water is
conveyed everywhere.

In Agra, Chandwar, Bayana (all in present-day Uttar
Pradesh) and those parts again, people water with a
bucket ... At the well-edge they set up a fork of wood,
having a roller adjusted between the forks, tie a rope
to a large bucket, put the rope over a roller, and tie its
other end to the bullock. One person must drive the
bullock, another empty the bucket.

(32.1) Examine the factor that accounted for the expansion of

agriculture in Mughal Period. 1
(32.2) How did the expansion of irrigation facilities increase the
participation of farmers ? 1
(32.3) Examine the irrigation devices used in agrarian culture. 2
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33. feu mw & <k gfeu 3 A= feu wu yeai & 3o fafeu 1+1+2=4

feATeTg < Wien
FhAH A A g b I 9 % [ e % Siagr foed
TR THIGR o TSR @1 UfaUg TR 3IWehl Wk i Tagadl
foRer ed o

YEATH! 39 a7 % AN Sl 9HE T8l d o, Tk Ig T
8 T 31 QNN 1 81 980 9U o1 Hifh $9h forT,
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FIaGR, S qEI-9$ FHH Jad 8, 95 &l geid HR e &
3R I M g Toh STHIGRI T 3 W hig 991 g1 gorar | d
A A T T H Ho AIe ¥ EIC A T A 8 3R
T & fohed T $R-A-F® IHET HH | A § | I
I 3k U2 hl §hell © SIET THH & | SHIER <l ThH &
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(33.2) Siideri 3 34l sl ford TohR Weshm ? 1
(33.3) Sder M4 H frd Yehr SIfchemed] s 2 2
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33. Read the given source and answer the questions that follow : 1+1+2=4

The jotedars of Dinajpur

Buchanan described the ways in which the jotedars of
Dinajpur in North Bengal resisted being disciplined by the

zamindar and undermined his power :

Landlords do not like this class of men, but it is
evident that they are absolutely necessary, unless the
landlords themselves would advance money to their

necessitous tenantry ...

The jotedars who cultivate large portions of lands are
very refractory, and know that the zamindars have no
power over them. They pay only a few rupees on
account of their revenue and then fall in balance
almost every kist (instalment), they hold more lands
than they are entitled to by their pottahs (deeds of
contract). Should the zamindar’s officers, in
consequence, summon them to the cutcherry, and
detain them for one or two hours with a view to
reprimand them, they immediately go and complain at
the Fouzdarry Thanna  (police station) for
imprisonment and at the munsiff’s (a judicial officer at
the lower court) cutcherry for being dishonoured and
whilst the causes continue unsettled, they instigate
the petty ryots mnot to pay their revenue

consequently ...
(33.1) Why did jotedars resist the Zamindars of Dinajpur ? 1
(33.2) How did Jotedars instigate the ryots ? 1
(33.3) How did jotedars gain power in the village ? 2
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34. (34.1) WRA o [T T TSHITah WI-AEREE (56 27 W) #, F=faked =i
I Tosl @ sifera ShifsTe ot 3k 9 fafeu - 3x1=3
(i) IS — 3T & G
(i) TEFE - fohfia geon e
(i) (F) ST — Gl o AfH &
Jrra
i) (@) B - g
(34.2) R = FHI T WWT-0Ms W g TAE 6l A IR B @ 3ifehd fon
T R, S 1857 H U o AT & ¥ Gald § | 396! YgETNT IR
39k TE! A9 Ik ke WiEN T8 @t 1 fafigu | 2

qig:  [AEIET 397 #ac gheattad qagiaa & [0 9. . 34 & T W3

(34.1) 9Ra | foregl g sitg Toreti o Am feiflaw | 2
(34.2) (%) TS AU & efT fereft weh & 1 A fafaw | 1
Jrera
(34.2) (@) T U o fohdll Toh U9l TR 1 99 fafEw | 1
(34.3) 1857 = fagiz & fohrgl @ gl o W faiRgu | 2
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SECTION E
(Map-Based Questions) 5

34. (34.1) On the given political outline map of India (on page 27), locate and
label the following with appropriate symbols : 3x1=3

(1) Kannauj — Ashokan Inscription
(ii)  Rakhigarhi — Mature Harappan site
(iii) (a) Ajmer — Territory under control of Mughals
OR
(iii) (b)  Mysore — An empire
(34.2) On the same political outline map of India, two places related to

British control in 1857 are marked as A and B. Identify them and

write their names on the lines drawn near them. 2

Note: The following questions are for the Visually Impaired Candidates,
only in lieu of Q. No. 34 :

(34.1) Name any two Buddhist sites in India. 2
(34.2) (a) Name any one territory under Mughal empire. 1
OR
(34.2) (b) Name any one capital city of the Mughal Empire.
(34.3) Name any two centres of the Revolt of 1857. 2
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Marking Scheme
Strictly Confidential
(For Internal and Restricted use only)
Senior School Certificate Examination, 2023
HISTORY (SUBJECT CODE 027) (PAPER CODE 61/3/1)
General Instructions: -

1 You are aware that evaluation is the most important process in the actual and correct
assessment of the candidates. A small mistake in evaluation may lead to serious
problems which may affect the future of the candidates, education system and
teaching profession. To avoid mistakes, it is requested that before starting evaluation,
you must read and understand the spot evaluation guidelines carefully.

2 “Evaluation policy is a confidential policy as it is related to the confidentiality of the
examinations conducted, Evaluation done and several other aspects. Its’ leakage to
public in any manner could lead to derailment of the examination system and affect
the life and future of millions of candidates. Sharing this policy/document to anyone,
publishing in any magazine and printing in News Paper/Website etc may invite action
under various rules of the Board and IPC.”

3 Evaluation is to be done as per instructions provided in the Marking Scheme. It should
not be done according to one’s own interpretation or any other consideration.
Marking Scheme should be strictly adhered to and religiously followed. However,
while evaluating, answers which are based on latest information or knowledge
and/or are innovative, they may be assessed for their correctness otherwise and due
marks be awarded to them. In class-X, while evaluating two competency-based
questions, please try to understand given answer and even if reply is not from
marking scheme but correct competency is enumerated by the candidate, due marks
should be awarded.

4 The Marking scheme carries only suggested value points for the answers

These are in the nature of Guidelines only and do not constitute the complete answer.
The students can have their own expression and if the expression is correct, the due
marks should be awarded accordingly.

5 The Head-Examiner must go through the first five answer books evaluated by each
evaluator on the first day, to ensure that evaluation has been carried out as per the
instructions given in the Marking Scheme. If there is any variation, the same should be
zero after delibration and discussion. The remaining answer books meant for
evaluation shall be given only after ensuring that there is no significant variation in
the marking of individual evaluators.

6 Evaluators will mark( v ) wherever answer is correct. For wrong answer CROSS ‘X” be
marked. Evaluators will not put right (v )Jwhile evaluating which gives an impression
that answer is correct and no marks are awarded. This is most common mistake

which evaluators are committing.

7 If a question has parts, please award marks on the right-hand side for each part.
Marks awarded for different parts of the question should then be totaled up and
written in the left-hand margin and encircled. This may be followed strictly.

8 If a question does not have any parts, marks must be awarded in the left-hand margin
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and encircled. This may also be followed strictly.

9 If a student has attempted an extra question, answer of the question deserving more
marks should be retained and the other answer scored out with a note “Extra
Question”.

10 No marks to be deducted for the cumulative effect of an error. It should be penalized
only once.

11 A full scale of marks 80 (example 0 to 80/70/60/50/40/30 marks as given in

Question Paper) has to be used. Please do not hesitate to award full marks if the

answer deserves it.

12 Every examiner has to necessarily do evaluation work for full working hours i.e., 8

hours every day and evaluate 20 answer books per day in main subjects and 25

answer books per day in other subjects (Details are given in Spot Guidelines).

13 Ensure that you do not make the following common types of errors committed by the

Examiner in the past:-

e Leaving answer or part thereof unassessed in an answer book.

Giving more marks for an answer than assigned to it.

Wrong totaling of marks awarded on an answer.

Wrong transfer of marks from the inside pages of the answer book to the title

page.

Wrong question wise totaling on the title page.

Wrong totaling of marks of the two columns on the title page.

Wrong grand total.

Marks in words and figures not tallying/not same.

Wrong transfer of marks from the answer book to online award list.

Answers marked as correct, but marks not awarded. (Ensure that the right tick

mark is correctly and clearly indicated. It should merely be a line. Same is with

the X for incorrect answer.)

e Half or a part of answer marked correct and the rest as wrong, but no marks
awarded.

14 | While evaluating the answer books if the answer is found to be totally incorrect, it

should be marked as cross (X) and awarded zero (0)Marks.

15 Any un assessed portion, non-carrying over of marks to the title page, or totaling

error detected by the candidate shall damage the prestige of all the personnel

engaged in the evaluation work as also of the Board. Hence, in order to uphold the

prestige of all concerned, it is again reiterated that the instructions be followed

meticulously and judiciously.

16 The Examiners should acquaint themselves with the guidelines given in the

“Guidelines for spot Evaluation” before starting the actual evaluation.

17 Every Examiner shall also ensure that all the answers are evaluated, marks carried

over to the title page, correctly totaled and written in figures and words.

18 The candidates are entitled to obtain photocopy of the Answer Book on request on payment of the
prescribed processing fee. All Examiners/Additional Head Examiners/Head Examiners are once again
reminded that they must ensure that evaluation is carried out strictly as per value points for each
answer as given in the Marking Scheme.
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SET-61/3/1

MARKING SCHEME 2023
HISTORY (027) MM: 80
S.No. Value Points PgNo. | Marks
SECTION A
(Multiple Choice Type Question) 21x1=21

1. (c) Work on Medicine 79 1
2. (c) (i), (i1) and (iii) 2 1
3. (a) Maurya 32 1
4. (d) Uttaradhyayana Sutra and Tattvartha Sutra 86 1
5. (a) Italy 137 1
6. (d) (ii) and (iii) 145 1
7. (a) The Zamindari System/ Permanent Settlement 259 1
8. (c) (i) and (ii) 215 1
0. (c) Kamalapuram tank’s water was conducted through a 177 1

channel to the ‘Royal Centre’
10. (d) Brihadeshwara Temple 172 1

For Visually Impaired Candidates

1

(b) Tuluva dynasty 173
11. (a) Bahadur Shah Zafar 288 1
12 (a) Both (A) and (R) are correct and (R) is the correct 350 1

explanation of the (A).
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13. (d) Dr.Rajendra Prasad 409 1

14. (d) (ii), (iii), (i), (iv) 31 1
15. ( ¢) Government of India Act of 1935 415 1
16. (b) Fa Xian 66 1
17. (b) Birjis Qadr 292 1
18. (b)(ii), (iii) and (iv) 132 1
19. (b)Both (A) and (R) are true, but (R) is not the correct 15,16 | 1
explanation of (A).
20. (b)(i), (ii) and (iii) 214, 1
218
21 (c) Economic 277 1
Section B
(Short-Answer Type Questions) 6x3=24
29 (a) Between the sixth and fourth centuries BCE, Magadha | 31 3

became the most powerful Mahajanapada. Explain.

(i)Agriculture was especially productive in Magadha
region.

(ii)In Magadha, iron mines were accessible and provided
resources for tools and weapons.

(iii) Elephants (an important component of the army), were
found in forests of this region.

(iv) The Ganga and its tributaries provided a means of
cheap and convenient communication.

(v) Buddhist and Jaina writers who wrote about Magadha
attributed its power.

(vi) The ambitious kings of whom Bimbisara, Ajatashatru
and Mahapadma Nanda are the best known, and their
ministers, who helped implement their policies.

(vii) Strategic location of the capital Rajgir/Patliputra
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(viii) Any other relevant point.

Any three points to be explained.

OR
(b) “Several urban centres emerged in the sub-continent | 42 3
from the 6th century BCE”. Explain the statement with

example.
(i) These were the capitals of Mahajanapadas.

(ii) Virtually all major towns were located along routes of
communication.

(iii) Some towns such as Pataliputra were situated on
riverine routes.

(iv) Others, such as Ujjayini, were situated along land
routes.

(v) Yet others, such as Puhar, were near the coast, from
where sea routes began.

(vi) Many cities like Mathura were bustling centers of
commercial, cultural and political activity.

(vii) Any other relevant point.

Any three points to be explained.

23. Why is Mahabharata considered as a Dynamic Text? | 73,77 | 3
Explain

(i) The growth of the Mahabharata did not stop with the
Sanskrit version.

(ii) Over the centuries, versions of the epic were written in a
variety of languages through an ongoing process of dialogue
between peoples, communities, and those who wrote the
texts.

(iii) Several stories that originated in specific regions or
circulated amongst certain people found their way into the
epic.

(iv) The central story of the epic was often retold in different
ways.

(v)Episodes of Mahabharata were depicted in sculpture and
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painting.

(vi) Mahabharata also provided themes for a wide range of
performing arts - plays, dance and other kinds of narrations.

(vii) Itis a combination of narrative and didactic aspects.
(viii) Mahabharata is meant to be dramatic moving story
(ix) It contains social message.

(x) Bhagavad Gita is a part of Mahabharat which contains and
advise of Shri Krishna to Arjuna.

(xi) Any other relevant point.

Any three points to be explained.

24. Describe any three experiences of Ibn Battuta in India. 126- |3
129,

(i) The Coconut - According to him Coconut trees looked like 135

date palms resembling a man’s head.
(ii)The Paan -grown for its leaves.

(iii)Indian Cities - cities in the subcontinent full of exciting
opportunities, resources and skills. They were densely
populated and prosperous.

(iv)Bazaars -places of economic transactions, the hub of social
and cultural activities (performances by dancers, musicians
and singers)

(v)Delhi and Daulatabad - Ibn Battuta described Delhi and
Daulatabad as vast cities, with a great population, the largest
in India.

(vi)Fertility of the soil, which allowed farmers to cultivate two
crops a year.

(vii)Networks of trade and commerce
(viii)Indian textiles were in great demand (particularly
cotton cloth, fine muslins, silks, brocade and satin)

(ix)A unique system of communication - efficient postal
system (uluq, dawa)

(x)Slaves —openly sold in markets, regularly exchanged as
gifts, there was a considerable differentiation among slaves.

(xi) Travelling was also more insecure: Ibn Battuta was
attacked by bands of robbers several times.
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(xii)Any other relevant point.

Any three points to be explained.

25 (a) “Virupaksha temple was significant in Vijaynagara 184- |3
Empire.” Substantiate the statement. 187

(i) The Vijayanagara kings claimed to rule on behalf of the God
Virupaksha.

(ii) All royal orders were signed “Shri Virupaksha”, usually in
the Kannada script.

(iii) Rulers also indicated their close links with the Gods by
using the title “Hindu Suratrana”, this meant Hindu Sultan.

(iv) The raya gopurams or royal gateways that often dwarfed
the towers on the gateways, which signalled the presence of
the temple from a great distance.

(v)Mandapas or pavilions and long, pillared corridors that
often ran around the shrines within the temple complex.

(vi)The hall in front of the main shrine was built by
Krishnadeva Raya to mark his accession.

(vii) The halls in the temple were used for a variety of
purposes.

(viii) Some were spaces in which the images of Gods were
placed to witness special programmes of music, dance,
drama, etc.

(ix) Others were used to celebrate the marriages of deities, and
yet others were meant for the deities to swing in.

(x) Any other relevant point.
Any three points to be explained.
Or

(b) “The architecture of the Vitthala Temple was unique. | 188
Substantiate the Statement.

(i) The principal deity was Vitthala, a form of Vishnu generally
worshipped in Maharashtra

(ii) Worship of the deity was a part of an imperial culture.

(iii) This temple has several halls and a unique shrine
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designed as a chariot

(iv) A streets were paved with stone slabs and lined with
pillared pavilions in which merchants set up their shops.

(v) Mandapas or pavilions and long, pillared corridors that
often ran around the shrines within the temple complex
characteristic feature of the temple complexes

(vi) Itis the chariot streets that extended from the temple
gopuram in a straight line.

(viii) Temples were mark of imperial authority.
(ix) Decorated with delicately carved pillars.

(x) Garbha Griha

(xi)Any other relevant point

Any three points to be explained

26. How did G.B. Pant show his concern in the Constituent | 418 3
Assembly for making India a unified nation? Explain

(i) Govind Ballabh Pant declared the success of a democracy
was to be judged by the confidence it generated amongst
different sections of people.

(ii) Every citizen in a free state should be treated in a manner
that satisfied “not only his material wants but also his
spiritual sense of self-respect”.

(iii) Understanding between the majority and minority
community.

(iv) Empathise with their aspirations of society.
(v) Pant opposed the idea of separate electorates.

(vi) “It is the citizen that forms the base as well as the summit
of the social pyramid.”

(vii)No divided loyalties.
(viii) Forge a strong nation and a strong State.

(ix)He believed that separate electorate would be suicidal.

(x)Any other relevant point.

Any three points to be explained
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27. British control the powers of taluqdars in the 1850s. | 298- | 3
Explain. 299

(i) Talugdars were disarmed.

(ii) Their forts were destroyed.

(iii) They introduced the new revenue system known as
Summary Settlement in 1856.

(iv) According to this, the land was taken from the
talugdars because Britishers blamed that they had acquired
the land by force and fraud.

(v) By this settlement British stated that they will settle
the land income with the owners of land and reduce their
exploitation. They also wanted to increase the revenue
returns to the State.

(vi) But in actual practice, this did not happen - although
the revenues increased, the burden on the peasants did not
reduce.

(vii) Officials soon found out that there was increase in
revenue rates from 30 to 70 percent and large areas of
Awadh were heavily over-assessed.

(viii) Any other relevant point.

Any three points.

Section C

(Long-Answer Type Questions) 3x8=24

28. (a) Why is the mid-first millennium BCE often regarded as | 84-85 | 8
a turning point in world history? Explain with examples.

(i) This period saw the emergence of thinkers such as
Zarathustra in Iran, Kong Zi in China, Socrates, Plato and
Aristotle in Greece and Mahavira and Gautama Buddha in
India.

(ii) They tried to understand the mysteries of existence.
(iii) They discussed on the relationship between human
beings and the cosmic order (Universe).

(iv) This was also the time when new kingdoms and cities
were developing all over the world.
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(v) It was also the time when social and economic life was
changing in a variety of ways in the Ganga Valley.

(vi) The early Vedic tradition was one of the pre-existing
traditions of thought.

(vii) The Rig Veda consists of hymns in praise of a variety of
deities, especially Agni, Indra and Soma.

(viii)Many of these hymns were chanted when sacrifices
were performed, where people prayed for cattle, sons,
good health, long life, etc.

(ix) Atfirst, sacrifices were performed collectively.

(x) More elaborate sacrifices, such as the Rajasuya and
Ashvamedha, were performed by chiefs and kings who
depended on Brahmana priests to conduct these rituals.

(xi) Upanishads

(xii) Any  other relevant
point. Any eight points to
explained.

OR
99- 8
(b)How have Art historians tried to understand | 103

Buddhism through the sculptures of Sanchi Stupa.
Explain with examples.

(i) Art historians have carefully studied the sculpture at
Sanchi and identified many senses from the ‘Vessantara
Jataka’.

(ii) Example - a story of a generous prince who gave away
everything to a Brahmana and went to live in the forest with
his wife and children.

(iii) Buddha'’s presence shown through symbols - Empty seat
represents Meditation of Buddha, Stupa represents
Mahaparinibbana, Wheel represents the first sermon of the
Buddha delivered at Sarnath, Tree symbolizes an event in
the life of the Buddha.

(iv) Brahmanical Tradition - Shalabhanjika, a beautiful
woman swinging from the edge of the gateway.

(v) It was regarded as a decoration of the stupa.

(vi) Shalabhanjika motif is derived from Sanskrit tradition.
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(vii) Many people who turned to Buddhism enriched it with
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their own pre-Buddhist and even non-Buddhist beliefs,
practices and ideas.

(viii) Some of the finest depictions of animals are found at
Sanchi Stupa.

(ix) Animals were later used as symbols of human attributes.

(x) Elephants (signify-strength and wisdom), horses,
monkeys and battle.

(xi) Gaja Lakshmi motif the mother of the Buddha, others
identify her with the Goddess of good fortune.

(xii) Serpent found on several pillars seems to be derived
from other popular traditions.

(xiii) Any other relevant point.

Any eight points to explained.

29. (a) Describe the philosophy and teachings of Kabir 161- |8

: : . . 163

(i) Kabir was a nirguna poet-saint.

(ii) Kabir’s mystical experiences are many to describe the
Ultimate Reality.

(iii)He described the Ultimate Reality as Allah, Khuda, Hazrat
and Pir.

(iv) He also used terms drawn from Vedantic traditions,
Aulakh (the unseen), Nirakar (formless), Brahman,
Atman, etc.

(v) Other terms with mystical connotations such as shabda
(sound) or shunya (emptiness) were drawn from yogic
traditions.

(vi) Diverse and sometimes conflicting ideas are expressed in
these poems, Ulat Bansi

(vii) Some poems draw on Islamic ideas and use
monotheism. He used the Sufi concept of love to
express the Hindu practice of Nam-simaran
(remembrance of God’s name).

(viii)Kabir was and is, in the present a source of inspiration
for those who questioned entrenched religious and
social institutions, ideas and practices in their search
for the Divine.

(ix) The verses attributed to Kabir use the words Guru and

Get More Learning Materials Here : & m @R www.studentbro.in



Satguru.

(x) He argued against the distinctions made between gods
of different communities.

(xi) Any other relevant point.

Any eight points to be explained.

OR

(b) Describe the teachings and philosophy of Islam.

(i) All those who adopted Islam accepted, in principle, the 151- |8
five “pillars” of the faith. 152

(ii) There is one God, Allah, and Prophet Muhammad is his
messenger.

(iii) Offering prayers five times a day;
(iv) Giving alms;

(v) Fasting during the month of Ramzan;
(vi) Performing the pilgrimage to Mecca.

(vii) However, these universal features were often overlaid
with diversities in practice derived from local
customary practices of converts from different social
milieus.

(viii)Shias and Sunnis

(ix) For example, the Khojahs, a branch of the Shi'a sect
composed devotional poems in Punjabi, Multani,
Sindhi, Kachchi, Hindi and Gujarati, sang them in
special ragas during daily prayer meetings.

(x) The Sharia is the law governing the Muslim
community. It is based on the Quran and the Hadith.

(xi) Architecture of Mosques.
(xii) Any other relevant point.

Any eight points to be explained.
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30. a) Analyze Gandhiji’s activities in India during 1930-34. 355- |8
360

(i) In its annual session at Lahore Congress he demanded
‘Purna Swaraj’ and decided to observe 26th January, 1930
as Independence Day.

(ii) Soon after this, Gandhiji decided to launch a Salt
Satyagraha.

(iii) March 1930 - Gandhiji began his famous ‘Salt March’
and launched Dandi Satyagraha officially.

(iv) He chose the issue of salt as this was indispensable for

every household.

(v) All across large parts of India, peasants breached forest
laws, factory workers went on strike, lawyers boycotted
courts and students refused to attend government-run

educational institutions.

(vi) Parallel salt marches were organized in other parts of
the country.

(vii) Peasants breached the colonial forest laws which

restricted their access to forests.

(viii) Factory owners went on strike. Lawyers boycotted
British courts.

(ix) Indians were arrested.

(x) Gandhiji made a plea to the upper caste to serve

untouchables.
(xi) Hindus, Muslims, Parsees and Sikhs were told to unite.
(xii) Thousands of volunteers joined for the cause.
(xiii) Many officials resigned from their posts.

(xiv) Gandhiji’s meetings were attended by all sections of

people.

(xv) Women participated in large numbers.
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(xvi) Salt March made British realize that they would have to
devolve some powers to Indians.

(xvii) On November 1930 - The First Round Table
Conference was held - Gandhij did not attend.

(xviii) In 1931, the ‘Gandhi-Irwin Pact’ was signed by the
terms of which Civil Disobedience was called off and all
prisoners were released.

(xix) The Second Round Table Conference was held in 1931
in London. Gandhiji represented the Congress in the

meeting but it was inconclusive.

(xx) Gandhiji returned to India and relaunched Civil
Disobedience

(xxi) Any  other relevant
point. Any eight points to
explained.

OR

(b) ‘By 1922, Gandhiji had transformed Indian

nationalism’ Examine the statement. 349- 8
355

(i) Gandhiji's early contribution - Kheda, Champaran and
Ahmedabad. Gandhiji coupled Non-cooperation with Khilafat
and adjoined Hindus and Muslims to end colonial rule.

(i) These movements unleashed a surge of popular action
that was altogether unprecedented in colonial India.

(iii) Indians did not cooperate with Government at any
level.

(iv) Boycott of schools, college and law courts.
(v) National schools, colleges were opened.
(vi) Non-payment of taxes.

(vii) Renunciation of titles and voluntary association with
the Government.
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(viii) This movement changed the course of Indian history.
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(ix) Poor peasants, workers, students, lawyers and
industrialists joined the movement.

(x) Hindus, Muslims, Parsis and Sikhs were told to unite.

(xi) Thousands of volunteers joined for the cause.

(xii) Many officials resigned from their posts.
(xiii) Meetings were attended by all sections of people.
(xiv) Women participated in large numbers.
(xv) Itwas training for self-rule.
Any other relevant point.

Any eight points to explained

SECTION D
(Source-Based Questions) 3x4=12
31 Read the given source and answer the questions that | 4 1+1+2=4

follow:

SOURCE-BASED QUESTION -How artefacts are identified

(31.1) How do archaeologists classify their finds? (1)

i. Archaeologists classify their finds: On the basis of
material, such as stone, clay, metal, bone, ivory, etc.

ii. In terms of function : Archaeologists have to decide
whether an artefact is a tool or an ornament, or both, or
something meant for ritual use.

iii. Any other relevant point.

Any one point to be explained.

(31.2) How do archaeologists use present day analogies to
understand ancient artefacts? (D

i. Archaeologists reconstruct the past by a study of the
artefacts which they unearth such as seals, coins, and
remains of buildings, clay pots or burnt grains.

ii. Any other relevant point.

Any one point to be explained.
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(31.3) How had Ernest Mackay described Saddle Quern in

his book? (2)
i. Saddle quern was used for grinding material with one’s
hand.

ii. It was produced by rocking or rolling the hand stone using
parallel motions.

iii. Pushing and pulling the hand stone which forms a shape
looking like a saddle.

iv. Any other relevant point.

Any two points to be explained

32. Read the given source and answer the questions that 199 1+1+2=4
follow:

SOURCE-BASED QUESTION - Irrigating trees and fields

(32.1) Examine the factor that accounted for the
expansion of agriculture in Mughal Period. (1)

i. Irrigation and technology
ii. The abundance of land
iii. Available labour and the mobility of peasants
iv. Any other relevant point.
Any one point to be explained.

(32.2) How did the expansion of irrigation facilities
increase the participation of farmers? (1)

i. The Mughal State also encouraged peasants to cultivate
such crops as they brought in more revenue.

ii. Crops such as cotton and sugarcane were jins-i kamil.

iii. Involvement of khud-kashta and pahi-kashta (residential
and non-residential cultivators)

iv. More varieties of crops grown.
v. Usage of drilling, hoeing, weeding helped farmers to grow

vi. Continuous supply of water resulted in three crops in an
year.
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vii. It resulted in the enhancement of Commercial
production.

viii. Any other relevant point.

Any one point to be explained.

(32.3) Examine the irrigation devices used in agrarian
culture. (2)

i. Areconstructed Persian wheel.
ii. Wells and tanks were the main sources of such irrigation.

iii. Different devices were used for lifting water from wells
into field-channels.

iv. The state undertook digging of new canals (nahr, nala)
and also repaired old ones like the shahnahr

v. Any other relevant point.

Any two points to be explained.

33 Read the given source and answer the questions that 262 1+1+2=4
follow:

SOURCE-BASED QUESTION - The jotedars of Dinajpur

(33.)Why did Jotedars resist the Zamindars of Dinajpur?
(1)

i. The Jotedars opposed the moves of Zamindars to increase
the Jama of a village.

ii. The Jotedars lived in villages only. Hence they were in a
better position to interact with and influence the peasants.

iii. Any other relevant point.

Any one point to be explained.

(33.2) How did Jotedars instigate the ryots ? (D

i. The Jotedars mobilized ryots (of the villages) who were
dependent on them.

ii. They (Jotedars) deliberately delayed payments of
revenue to the Zamindars.
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iii. Any other relevant point.

Any one point to be explained.

(33.3)How did Jotedars gain power in the village? (2)

i. The Jotedars lived in villages only.

ii. Hence they were in a better position to interact with and
influence the peasants.

iii. The Jotedars were rich and owned big areas of land under
cultivation.

iv. They deliberately delayed payments of revenue to the
Zamindars.

v. In fact, when the estates of the Zamindars were auctioned
for failure to make revenue payment, often Jotedars bought
their estate. This made the Jotedars most powerful.

vi. Any other relevant point.

Any two points to be explained.

SECTION E
(Map-Based Questions) 5
34. (34.1) On the given political map of India (on page 27), 3+2=5
locate and label the following with appropriate symbols
(i) Kannauj - Ashokan Inscription - (D
(ii) Rakhigarhi --Mature Harappan Site (D
(iii) a) Ajmer - Territory under control of Mughals (1)
OR

(iii) (b) Mysore - An empire (D
SEE ATTACHED MAP

(34.2)On the same outline map, two places related to British
control in 1857 are marked as ‘A and B. Identify them and
write their correct names on the lines drawn near them. (2)
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SEE ATTACHED MAP 5x1=5

Note:  The following questions are for the Visually Impaired
Candidates, only in lieu of Q. No. 34 :

(34.1) Name any two Buddhist sites in India.

Ans - Nagarjunakonda, Sanchi, Amravati, Lumbini, Nasik,
Bharhut, Bodh Gaya, Ajanta (2)

(34.2)(a) Name any one Territory under Mughal Empire :

Ans - Delhi, Agra, Panipat, Amber, Ajmer, Lahore, Goa. - Any
one (1)

OR
(34.2) (b) Name any one capital city of the Mughal Empire.

Ans: Agra, Delhi/ Shahjahanabad, Lahore, Fatehpur Sikri -
Any one (1)

(34.3) Mention any two centres of the Revolt of 1857.

Ans: Delhi, Meerut, Jhansi, Lucknow, Kanpur, Azamgarh,
Calcutta, Banaras, Gwalior, Jabalpur, Agra, Avadh - Any two

(2)
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For question no. 34

61!5).\

WA @ Tt (raAttas)
Outline Map of India (Political)
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